ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MAY 15, 2024 AT 2:00 PM

CONTRACT ID: 12126598

WBS ELEMENT NO.: 13RE.101113, 13RE.101115, 13RE.101133, 13RE.101135,

13RE.201113, 13RE.201115, 13RE.201125, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISION, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO .:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK:

SPECIALIZED MOWING, TRIMMING, AND SELECTIVE TREE

REMOVAL UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.	or Entito.
RUSSIA KOADWAY PROJECT.	BID BOND IS NOT REQUIRED.
NAME OF BIDDER	71388 2/0
350 WESTERMAN	P/A 14 (00: 1) 1:01)
ADDRESS OF BIDDER	301.71.31.21.01 N

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

XXXXXXXX

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125

Description:

Specialized Mowing, Trimming, and Select Tree Removal upon Request

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Specialized Mowing and Trimming	125	ACR	790-	98750
2	SP	Selective Tree Removal, 6"	10	EA	300	3000
3	SP	Vegetation Removal at Stationary Objects	200,000	LF	.12	24000
4	SP	Additional Vegetation Removal at Stationary Objects	10,000	SF	,25	2500
5	SP	Area Cleanup Option 1	30	ACR	1560	45000-
6	SP	Area Cleanup Option 2	30	ACR	700	2100-
7	SP	Area Cleanup Option 3	30	ACR	1500	45000
STATE OF THE STATE						

Contractor: RUSSEIL ENTERDISES LLC Address: 250 WESTERMAN PLACE Son: Lh Jig/d No
Address: 350 WESTERMAN Place Son. Hyig/d No
Phone: 919. 915-1781 Federal Id: 56-245-5734
Contractor's License Number:
Authorized Agent: DENNIS RUSSEL Title: Pre
Signature: Date: 5-6-20

TOTAL BID FOR PROJECT: 239,250

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MAY 15, 2024 AT 2:00 PM

CONTRACT ID: 12126598

WBS ELEMENT NO.: 13RE.101113, 13RE.101115, 13RE.101133, 13RE.101135,

13RE.201113, 13RE.201115, 13RE.201125, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISION, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: SPECIALIZED MOWING, TRIMMING, AND SELECTIVE TREE

REMOVAL UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Atoah Contracting LLC

NAME OF BIDDER

116 Lower Mill Creek Drive, Robbinsville, NC 28771

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

XXXXXXXX

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125 Specialized Mowing, Trimming, and Select Tree Removal upon Request

Description: County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Specialized Mowing and Trimming	125	ACR	\$950.00	\$118,750.00
2	SP	Selective Tree Removal, 6"	10	EA	\$325.00	\$3,250.00
3	SP	Vegetation Removal at Stationary Objects	200,000	LF	\$0.08	\$16,000.00
4	SP	Additional Vegetation Removal at Stationary Objects	10,000	SF	\$0.10	\$1,000.00
5	SP	Area Cleanup Option 1	30	ACR	\$2,000.00	\$60,000.00
6	SP	Area Cleanup Option 2	30	ACR	\$2,000.00	\$60,000.00
7	SP	Area Cleanup Option 3	30	ACR	\$2,500.00	\$75,000.00

÷		
Contractor: Atoah Contracting LLC		
Address: 116 Lower Mill Creek Drive, Robb	binsville, NC	28771
Phone: (828)-735-1980	Federal Id:	85-3034804
Contractor's License Number: N/A		
Authorized Agent: Logan Carver		Title: Owner
Signature: July Can		Date: 05/15/2024

TOTAL BID FOR PROJECT: \$334,000.00

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MAY 15, 2024 AT 2:00 PM

CONTRACT ID: 12126598

WBS ELEMENT NO.: 13RE.101113, 13RE.101115, 13RE.101133, 13RE.101135,

13RE.201113, 13RE.201115, 13RE.201125, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISION, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: SPECIALIZED MOWING, TRIMMING, AND SELECTIVE TREE

REMOVAL UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

10 ldstar Project Group LLC BIDDER 814 Fallston Rd Lawndale NC 28090

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number:

XXXXXXXX

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125

Description:

Specialized Mowing, Trimming, and Select Tree Removal upon Request

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Sect	Description	Quantity	Unit	Unit Price	Amount Bid
SP	Specialized Mowing and Trimming	125	ACR	2 110 20	
SP	Selective Tree Removal, 6"	10		2344	
SP	Vegetation Removal at Stationary Objects	200,000			1,250.00
SP	Additional Vegetation Removal at	10,000			14,000.00
SP	Area Cleanup Option 1	. 30			800.00
SP	Area Cleanup Option 2	30			6,750.00
SP	Area Cleanup Option 3	30	ACR		9,750.00
	SP SP SP SP SP	SP Specialized Mowing and Trimming SP Selective Tree Removal, 6" SP Vegetation Removal at Stationary Objects SP Additional Vegetation Removal at Stationary Objects SP Area Cleanup Option 1 SP Area Cleanup Option 2	SP Specialized Mowing and Trimming 125 SP Selective Tree Removal, 6" 10 SP Vegetation Removal at Stationary Objects SP Additional Vegetation Removal at Stationary Objects SP Area Cleanup Option 1 30 SP Area Cleanup Option 2 30 SP Area Cleanup Option 2 30	SP Specialized Mowing and Trimming 125 ACR SP Selective Tree Removal, 6" 10 EA SP Vegetation Removal at Stationary Objects SP Additional Vegetation Removal at Stationary Objects SP Area Cleanup Option 1 30 ACR SP Area Cleanup Option 2 30 ACR SP Area Cleanup Option 2	SP Specialized Mowing and Trimming 125 ACR 3,049.20 SP Selective Tree Removal, 6" 10 EA 125.00 SP Vegetation Removal at Stationary Objects SP Additional Vegetation Removal at Stationary Objects SP Area Cleanup Option 1 30 ACR 235.00 SP Area Cleanup Option 2 30 ACR 150.00 SP Area Cleanup Option 2

TOTAL BID FOR PROJECT: 418,200.06	
Contractor: Goldstar Project Group LLC Address: 5814 Fallstan Rd Phone: 104 770 7846 Federal Id: 81 430 686 0 Contractor's License Number: Authorized Agent: Stan Miller Title: Owner Signature: Date: 5-14-24	Account to the second

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MAY 15, 2024 AT 2:00 PM

CONTRACT ID: 12126598

WBS ELEMENT NO.: 13RE.101113, 13RE.101115, 13RE.101133, 13RE.101135,

13RE.201113, 13RE.201115, 13RE.201125, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISION, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: SPECIALIZED MOWING, TRIMMING, AND SELECTIVE TREE

REMOVAL UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING

THIS IS A ROADWA	Y PROJECT. H. BRAA		NDSCA		BOND IS NOT A/C .	REQUIRED.
NAME OF BIDDER	Time to the state of the state			7, 1/20	of the state of th	
	Control of the second	0 1	ITE	era AMI vite.	And the same of th	

ADDRESS OF BIDDER Rd. SglvA, NC 28779

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number:

XXXXXXX

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125

Description: County:

Specialized Mowing, Trimming, and Select Tree Removal upon Request Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

No.	Sect	- sorption	Quantity	Unit	Unit Price	Amount Bid
1	SP	Specialized Mowing and Trimming	125	ACR	475.60	A STATE OF THE PARTY OF THE PAR
2	SP	Selective Tree Removal, 6"	10	EA		59,375.
3	SP	Vegetation Removal at Stationary			340,00	3,400.
4	CD	Objects Additional Vegetation Removal at	200,000	LF	0.11	22,000.00
4	SP	Stationary Objects	10,000	SF	017	
5	SP	Area Cleanup Option 1	20	1.07	0.17	1,700.00
6	SP	Area Cleanup Option 2	30	ACR	4,000,00	120,000,0
7			30	ACR	1,540.00	46,280.
7	SP	Area Cleanup Option 3	30	ACR	50	
	(1) (1) (1)				7,400.00	222, 600.00

TOTAL BID FOR PROJECT: 474, 675.00
Contractor: B.H. GRANING LANDSCARES, INC. Address: 64 Bella Rd Sylv4 NC 28779 Phone: 828-586-8303 Federal Id: 300307223 Contractor's License Number: CL # 0351 Authorized Agent: Tyler Applegate Title: 1/ce Prendont Signature: Date: 5/15/24

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MAY 15, 2024 AT 2:00 PM

CONTRACT ID: 12126598

WBS ELEMENT NO.: 13RE.101113, 13RE.101115, 13RE.101133, 13RE.101135,

13RE.201113, 13RE.201115, 13RE.201125, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISION, MCDOWELL, MITCHELL, RUTHERFORD, AND YANCEY

TIP NO .:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

LOCATION:

VARIOUS

TYPE OF WORK: SPECIALIZED MOWING, TRIMMING, AND SELECTIVE TREE

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING. THIS IS A ROADWAY PROJECT. CONMACT ING COMPANY

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

XXXXXXX

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125

Description:

Specialized Mowing, Trimming, and Select Tree Removal upon Request

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Specialized Mowing and Trimming	125	ACR	1,800,00	225 w, w
2	SP	Selective Tree Removal, 6"	10	EA	300,00	3,000,00
3	SP	Vegetation Removal at Stationary Objects	200,000	LF	,08	16,000,00
4	SP	Additional Vegetation Removal at Stationary Objects	10,000	SF	, 20	2,000,00
5	SP	Area Cleanup Option 1	30	ACR	2000,00	62,002,00
6	SP	Area Cleanup Option 2	30	ACR	3000, 10	90,000,00
7	SP	Area Cleanup Option 3	30	ACR	4000,00	120,000,00
						'

TOTAL BID FOR PROJECT: <u></u>	516	000.	00

Contractor: Lovin Contracting Company Inc.	
Address: PO BOX 758, Robbinsville, NC 28171	
Phone: 828, 479, 9462 Federal Id: 56-2177867	
Contractor's License Number: 1439	
Authorized Agent: Brandon K. Lovin Title: President Signature: Date: 5.13.211	
Signature: Date: 5.13.24	